PART I — ENGINEERING MATHEMATICS (COMMON TO ALL CANDIDATES)
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In Newton-cotes formula,
interpolated at equally spaced nodes by a

polynomial of degree four then it
represents . -

1.  Trapezoidal rule

2. Simpson rule

3.  Three-eight rule

4. - Booles rule

If f(x) is a polynomial of degree n in x. 12.
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1.  Newton backward diffefenc_e formula

2. Newton forward difference formula

Gauss’ forward formula

4.  Newton divided difference formula
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when AX = B is solved by Gauss-Jordan
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Gauss elimination method fails if

1.  any one of the pivots 18 Zero or very
small

2. . any one of the pivots is non zero or
very large

3. any two of the pivots are zero and

one pivot is large

4.  any three of the pivots are non zero

and others are non zero

A continuous random variable X has a

density function given ° by

f(x)zkx(l—x)r, O0<x<1. The value of
k is

iles
2 8
S th
4. 6

Let X and Y be a bivariate random
variable with correlation coefficient 1/2,
and standard deviation 2 and 3
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- A random variable

The only discrete distribution that

follows memoryless property is

1. = Binomial

2.  Poisson

3.  Exponential

4. . Geometric

The random wvariable X takes values
—1,0 and 1 with probabilities 0.2, 0.5
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